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Mr. Robot needed a new battery.  He left his home and traveled up Binary Street, which is 40 degrees steep (reference angle).  To calculate how long Binary Street is we need to use the information that we know which is the adjacent side length of 3 miles.  We can use the trig ratio that involves adjacent and hypotenuse, which is cosine.  So, here is the calculation for the length of Binary Street:
Binary Street – Cosine 40 = 
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      0.7660 = 
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x 
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So it looks like Mr. Robot needs to travel approximately 3.9 miles up Binary Street.  Now, it’s the very steep Capacitor Street, which requires a lot of energy to climb.  Mr. Robot hopes his dying battery will get him to the store in time.  To find the length of Capacitor Street, we can use the trig ratio sine, which is equal to the opposite side of the reference angle (45 degrees) over the hypotenuse.  This is going to be SOH easy!  

Capacitor Street – Sine 45 = 
[image: image6.wmf]


      0.7071 = 
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x 
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So, 3.9 miles plus 2.8 miles means that Mr. Robot needs to travel 6.7 miles to the Part Store.  Can he make it on his faulty battery?  Hopefully he doesn’t have to call a TOA truck!
45� EMBED Equation.DSMT4  ���





2 miles





3 miles





40� EMBED Equation.DSMT4  ���





Part Store





Home








( 2009 Board of Regents University of Nebraska


_1149970628.unknown

_1149970666.unknown

_1149970678.unknown

_1149970691.unknown

_1149970127.unknown

_1149970159.unknown

_1149970211.unknown

_1149970016.unknown

_1149920706.unknown

